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Form 01

ClassTime/Day| Section Instructor Room
MWEF 8:30 am 0021 Delworth, Tim | SMITH 108
Online 0004 Delworth, Tim
Instructions:
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You must use a #2 pencil on the answer sheet. _
On the answer sheet, fill in: (This has to be correct to find your score online.)

a) Your last name, first name and middle initial and blacken the appropriate spaces.
b) Your section number and blacken the appropriate spaces.

- ¢) Your 10-digit student identification number and blacken the appropriate spaces.

* & o o

d) Fill in the test/quiz number with 01 and blacken in 01.

e) Sign your name at the bottom of the answer sheet.

Make sure that the cover of this exam matches the color of your answer sheet. If you are
color blind, ask the person sitting next to you for assistance.

There are 15 questions. On the answer sheet, blacken your choice of the correct answer in
the spaces provided for questions 1-15. Do all of your work on the question sheets. Turn in
the answer sheet when you leave and keep the question sheets. Only the answer sheet will
be graded. Do not walk out of the Hall without turning in your answer sheet!

All questions are worth the same. Please answer every question. No points will be deducted
for wrong answers, so why would you not answer every question?

A TI-30 XA, one-line calculator may be used. No other calculator is allowed.

Besides your calculator, all other electronics devices must be turned off and out of sight.

No books or papers are allowed. You cannot bring in a unit circle or a formula sheet. |
The exam is self-explanatory. Do not ask questions about any of the exam problems unless
you feel there is a typo.

Exam answers will be posted from a link in Blackboard about two hours after the exam.
Exam scores will be posted in the Blackboard grade book about two days after the exam.
Please check your exam score online before the next exam. The posted score is the official
score. If you feel there is an error, contact Tim Delworth, delworth@ purdue.edu.
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5 ~b+b* -4ac

B 2a

a’ =c?+b*-2chcosa
b* =a* +c* —2accos B

2 =a* +b*-2abcosy

b c
sin(2u) =2sinu cosu

cos(2u) = cos’ u—sin’ u

2tanu

tan(2u) = 1-tan’u

FINAL EXAM: Tuesday, May 5%, starting at 8:00 am (Yes, 8:00 AM)

Hall of Music, two hours, 30 questions, dress is casual
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L. Find the perimeter of AA4BC , with y =128°, & =31°,and a=13. 4cm

A. 4l6cm E 1§0°~(31° o1 128°)= 7//

@ Sh31° smi2é”
cm /}li/ /—'/g——-

C. 445cm | [3:7
128°
D. 398am /31° |2 C = %tzoj@
B 479cm IV Comsie_smer
= 3.4 73205 3.7 ‘;(gmz,a’ G372
=43 L= Z5age

2. The followmg information, & =32°,a =5cm,and b= Tcm, yields two distinct AABC.
Each has a different value for side ¢, angle B, and angle y. Find the smaller value of c.

A. 49cm G s .31.
B. S54cm 310

A 7 < \°
C. 3.7 - 32 [
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(§0°~ (32+“7 2 g0
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E. 18cm glnF" 7—*’;:'—' 7..-100. DL t Con 1590
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ean"O 7‘”? sim3&= = — = Cz
7 8Cl : C.~q 3 Ce=22.6

3. Asshown, a cable car travels from a point 4, which is 18,500 ft. from a point B at the base
of a mountain, to a point P at the top of the mountain. The angles of elevation of P from 4
and B are a = 20° and 8 = 70°. Approximate the height of the mountain.

A 8260 £ 130
_70

/
B. 8,011 f. /1 o°

(¢ 116240 - (ZO°+°uo°>
- =50

D. 7,015 f

SN ST SIhid

E. 6873 A (&0 X h
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4, Given AABC, with y =47°,a B160 cm,and b =138 cm, find the measure of angle a.
(hwro iz aeee
S 278
B. 56.9° _ 0, S
Y7 C= 12
C. 624° ' N
o 138 - S oY’ ;§(V\B
D. 70.6° q ) /20';L7r [ g_____&_ |
E. 665° o= [80 C‘“l7 +5C |2 5S4

5.

A.

B.

- C.

=76\ 556835

A triangular plot of land has sides of lengths 340 feet, 290 feet, and 320 feet.
Approximate thangle between the sides.

“r 540 20
59.8° \
67.5° X

A 970 C
3 3?,0 ’chqoj(gz,o) Cos )
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6. An airplane flies 150 miles from point A in the direction 60° and then travels in the C)o

direction 110° for 75 miles. Find its distance b.’;ljck to point A.

}F \V\Y-’/ 70

R Y
A i ] TR
196 mil l@ : b“‘g

B. 196 miles 70 >f

C. 201miles .
>[50

D. 181 miles /L/ZO{O)W;) codl3

E. 189 miles gX

X«ZO(OSCD 7 )
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7. A thombus has sides of length 124 cm, and the angle at one of the vertices is 73°.
Approximate the length of the longer diagonal.
(o]
A. 173.6cm [ {0
o
B. 160.1cm ~73 1"
sl
. /4 a 4 ) ©
C. 157.5cm [O L |7,q) 4
2 YU -2 c057
D. 1853cm (24 f o - )
X = s \ 14 )(
s
19,9
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8. Find the magnitude of vector a=(=§,-9)

A |d|=103 o= 4,3,47

B. [af=95 [&
Q"”? _ [lall= J’?ﬁ/ﬁ

D. |4|=11.7 _ (V( |
— 9 4 g/é g

E. |d|=83

A, 225.0° - /1:( ’“ﬂ
B. 21L7°
C. 1984°

D. 268.3°
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10.  Find a unit vector in the same direction as vector c=-4i+7;.

A u=4iT) ) lCH — WC \)/é%‘i?'
Sl ldi=ler

C. u=—4i+7j
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11.  Find the vector of magnitude 6 that has the opposite direction as vector c=-4i+7;.
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12. The magnitudes and directions of two forces acting at a point P are given.
Approximate the magnitude of the resultant vector.
(a) 807b,130° (b) 351h,190°
. ° <m 130°
A 6951 Q~480 cos 130 EOSM ?i
B. 94.81b ~sin [ 79
il
D. 7670 |~ . A 8/578/?3 H
E. 85310b Ty 9%
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13. An airplane is flying in the direction 100° with an airspeed of 500 mph, and a
40 mph wind is blowing in the direction 35°. Approximate the true course of

the airplane. K ’]D—f—w —Lgb 0w (00, 205 100° >
@ | Jws Y0 cos 357 YoM 38D
B. 75.8° r. /—5 40580 [S1s.3161 2
C. 84.0° %O‘AQ&\ e = K= SIE 17‘/‘//’7/‘\
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6 :"n(y\‘( )’{‘/fuo
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Helly old friend. I’ve come to talk with you again.
Change the mode of your calculamm

14. Find the solutions of the equation in the interval [O, 27[) , and approximate the solutions to

two decimal places.  4cos’t+7cost—6=0

~72 \}q‘i—m Jeo) —7EJ 12 JI15

A. 068,246 - _
089,539 cCosts Zca) o Y
C. BackObama = ~7~ it | oo %;:Zé_@:
D. 0.68,5.60 5 | 0030 )
E. 089,225 costs ~2.390% | = Cos”@;gg@)
po selchn | w2 T pete 231

. . . T g
15. Two of the solutions of the given equation are Eand - Approximate the other two
solutions, in the interval [0,27), to two decimal places.

4sin(20)=-Tcos6

Y (ZSW\GC“@)
coS & + 7S &=
Q%S“’\Q 4’7) =0

A. Vladimir Putin

:“7COSQ .
O

B. 4.02,541

D. 4.02,2.27 CO S @ /\7

E. 4.21,522 —

N —76’”
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Question Answer Green Orange

1. 43.2cm B B
2. 2.6cm D D
3. 7,762 fi. C C
a. 76.1° A A
5. 52.0° D D
6. 206 miles A A
7. 199.4cm E E
. Ja=9:3 8|
9. 251.6° E E
10 u —il+_’_]_1 D D

‘ J65 V65
11 ﬁ_i_ﬁ Jj B B

' J65 65
12. 102.11p c ¢
13. 96.0° A A
14, 0.89, 5.39 B B
15. 4.21,5.22 E E




